Intersection: Embarcadero Rd at El1 Camino Real, Palo Alto, California
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= ({
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1002
by
revision 0,
refPoint {
lat 374373351,
long -1221601111,
elevation 160
by
laneWidth 300,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}

by
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,



maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-X¥Y3 : {
x 1597,
y 1163
}
b
{

delta node-XY5 : {
x 7035,
y 2478
}
by
{

delta node-XY4 : {
x 3308,
y 1147
}
by
{

delta node-XY4 : {
x 2388,
y 850
}
by
{

delta node-XY3 : {
x 1642,
y 521
}
by
{

delta node-XY3 : {
x 1224,
y 247
}
by
{

delta node-XY4 : {
x 3668,
y 483
}
by
{

delta node-XY4 : {
x 2966,
y 585
}
by
{

delta node-XY4 : {
x 2241,
y 551
}
by
{

delta node-XY5 : {
x 6976,
y 2371
}
}
by
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}
by



signalGroup 4
b
{

connectingLane {

lane 29,

maneuver {maneuverRightAllowed}
b
signalGroup 4

}

lanelID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1811,
y 908
}
by
{

delta node-XY5 : {
x 7575,
y 2633
}
by
{

delta node-XY4 : {
x 2702,
y 912
}
by
{

delta node-XY4 : {
x 2335,
y 864
}
by
{

delta node-XY3 : {
x 1671,
y 569
}
by
{

delta node-XY3 : {
x 1123,
y 313
}
by
{

delta node-XY4 : {
x 3724,
y 438
}
by
{

delta node-XY4 : {
x 2833,
y 523
}
by



delta node-XY4 : {
X 2682,
y 693
}
by
{

delta node-XY5 : {
x 6825,
y 2303
}
}
I
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverStraightAllowed}
b
signalGroup 4
b
{

connectingLane {
lane 3,
maneuver {maneuverStraightAllowed}

lanelID 3,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 2063,
y 647
by
attributes {
dwidth 30
}
by
{
delta node-XY5 : {
x 4720,
y 1608
}
by
{

delta node-XY4 : {
x 2116,
y 758
}
by
{

delta node-XY2 : {
x 487,
y 528
}
}
by
connectsTo {

{



connectingLane {
lane 15,
maneuver {maneuverLeftAllowed}
b
signalGroup 4
}

lanelID 4,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 3801,
y -1363
by
attributes {
dwidth 30
}
by
{
delta node-XY3 : {
x 653,
y 1781
}
by
{
delta node-XY4 : {
x 2771,
y 1253
}
}
b
connectsTo {
{
connectingLane {
lane 5,
maneuver {maneuverStraightAllowed}

}

}
by
{
lanelID 5,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2568,
y 112
by
attributes {
dWwidth -30
}



delta node-XY5 : {
x 4657,
y 1559
}
by
{

delta node-XY5 : {
x 5201,
y 1771
}
by
{

delta node-XY4 : {
x 2363,
y 861
}
by
{

delta node-XY4 : {
x 2272,
y 837
}
by
{

delta node-XY3 : {
x 1000,
y 463
}
}
by
connectsTo {
{
connectingLane {
lane o,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID o,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2308,
y 358
}
by
{

delta node-XY5 : {
x 4695,
y 1624
}
by
{

delta node-XY5 : {
x 5319,
y 1751
}
by
{

delta node-XY4 : {



x 2306,
y 843
}
b
{

delta node-XY4 : {
x 2269,
y 780
}
by
{

delta node-XY3 : {
x 1164,
y 247
}
by
{

delta node-XY4 : {
x 2923,
y 689
}
by
{

delta node-XY4 : {
x 2881,
y 547
}
by
{

delta node-XY4 : {
x 2641,
y 703
}
by
{

delta node-XY5 : {
x 6940,
y 2346

lanelID 7,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY5 : {
x 3773,
y =1799
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dWwidth 30

}y



{
delta node-XY3
x 548,
y —-1051
}
I
{

delta node-XY4
x 1702,
y —-1947
}
by
{

delta node-XY3
x 834,
y —-1225
}
}
by
connectsTo {

{

connectingLane {

lane 4,

{

{

{

maneuver {maneuverRightAllowed}

by
signalGroup 6
}
}
by
{
laneID 8,

ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverStraightAllowed},

nodeList nodes : {
{
delta node-XY4
x 2117,
y —843
}
by
{

delta node-XY5
x 4740,
y -5179
}
by
{

delta node-XY5
x 4414,
y —4866
}
by
{

delta node-XY6
x 6281,
y —-6856
}
by
{

delta node-XY6
x 8793,
y —-9595

}

{

{

{

{

{



I
connectsTo {
{
connectingLane {
lane 7,
maneuver {maneuverStraightAllowed}
}
b
{

connectingLane {
lane 29,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
}

laneID 9,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1737,
y —-980
}
by
{

delta node-XY5 : {
x 4843,
y —-5318
}
by
{

delta node-XY5 : {
x 4445,
y —4898
}
by
{

delta node-XY6 : {
X 6283,
y —-6779
}
by
{

delta node-XY6 : {
x 8798,
y —-9604
}
}
by
connectsTo {
{
connectingLane {
lane 30,
maneuver {maneuverStraightAllowed}
by
signalGroup 6



laneID 10,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1401,
y -1083
}
by
{

delta node-XY5 : {
x 4996,
y —-5517
}
by
{

delta node-XY5 : {
x 4281,
y —4676
}
by
{

delta node-XY6 : {
X 6392,
y =7011
}
by
{

delta node-XY6 : {
x 8762,
y —-9630
}
}
b
connectsTo {
{
connectingLane {
lane 31,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
by
{

connectingLane {
lane 11,
maneuver {maneuverStraightAllowed}

laneID 11,
ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},

laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {

{

delta node-XY3 : {
x 1043,



y —-1225
by
attributes {
dwidth -30
}
by
{

delta node-XY5 : {
x 5219,
y —-5734
}
by
{

delta node-XY5 : {
x 3641,
y —-3918
}
by
{

delta node-XY2 : {
x 775,
y —-399
}
}
by
connectsTo {
{
connectingLane {
lane 15,
maneuver {maneuverUTurnAllowed}
by
signalGroup 1
by
{

connectingLane {
lane 22,
maneuver {maneuverLeftAllowed}

b
signalGroup 1

laneID 12,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =873,
y —2374
by
attributes {
dwidth 30
}
by
{

delta node-XY3 : {
x 1141,
y —438
}
by
{

delta node-XY5 : {



x 4401,
y —-4221

}
b
connectsTo {
{
connectingLane {
lane 13,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 13,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =227,
y —-1738
}
by
{

delta node-XY5 : {
x 4896,
y —-5295
}
by
{

delta node-XY5 : {
x 4725,
y —-5174
}
by
{

delta node-XY6 : {
X 6756,
y —=7409
}
by
{

delta node-XY6 : {
x 8800,
y —-9743
}
}
b
connectsTo {
{
connectinglane {
lane 11,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1003



laneID 14,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 151,
y —-1598
}
by
{

delta node-XY5 : {
x 4724,
y —-5199
}
I
{

delta node-XY5 : {
x 4758,
y —-5168
}
by
{

delta node-XY6 : {
X 6642,
y —-7267
}
by
{

delta node-XY6 : {
x 8957,
y —-9825
}
}
b
connectsTo {
{
connectinglane {
lane 12,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1003

lanelID 15,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 501,
y -1426
}
by



delta node-XY5 : {
x 4528,
y —4968
}
I
{

delta node-XY5 : {
x 4890,
y —-5359
}
by
{

delta node-XY6 : {
x 6472,
y -7089
}
by
{

delta node-XY6 : {
x 9080,
y —-9929
}
}
b
connectsTo {
{
connectinglane {
lane 13,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1003

lanelID 16,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —-1427,
y —-2380
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559

delta node-XY2 : {
x =790,
y —268

}



}y
{

delta node-XY4 : {
x =-1919,
y -840
}
}
I
connectsTo {
{
connectingLane {
lane 12,
maneuver {maneuverRightAllowed}
b
signalGroup 8
}
}
b
{
laneID 17,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
I
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1271,
y —-1754
}
b
{

delta node-XY4 : {
x —-2865,
y —1734
}
by
{

delta node-XY5 : {
x -5418,
y —-3254
}
by
{

delta node-XY6 : {
x -11613,
y —6955
}
by
{

delta node-XY3 : {
x =-1377,
y —-962
}
by
{

delta node-XY3 : {
x -1137,
y -1046
}
by
{

delta node-XY4 : {
x —-1745,
y —2426

}



}y
{

delta node-XY3 : {
x =704,
y —-1367
}
by
{

delta node-XY2 : {
x =352,
y —-429
}
}
by
connectsTo {
{
connectingLane {
lane 5,
maneuver {maneuverStraightAllowed}
by
signalGroup 8
by
{

connectingLane {
lane 16,
maneuver {maneuverStraightAllowed}

laneID 18,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1474,
y —-1522
}
by
{

delta node-XY4 : {
x —-2885,
y -1718
}
by
{

delta node-XY5 : {
x -5368,
y —-3212
}
by
{

delta node-XY6 : {
x -11623,
y —-6966
}
by
{

delta node-XY3 : {
x -1378,
y —-962

}



}y
{

delta node-XY3 : {
x —-1143,
y —-1035
}
by
{

delta node-XY4 : {
x -1798,
y —-2559
}
by
{

delta node-XY4 : {
x —-813,
y —-1953
}
by
{

delta node-XY3 : {
x =305,
y -1031
}
by
{

delta node-XY4 : {
x =550,
y —-2018
}
by
{

delta node-XY3 : {
x =247,
y -1679
}
}
by
connectsTo {
{
connectingLane {
lane o,
maneuver {maneuverStraightAllowed}
by
signalGroup 8
by
{

connectingLane {
lane 17,
maneuver {maneuverStraightAllowed}

lanelID 19,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1713,
y -1262
by



attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x -2831,
y —1677
}
by
{

delta node-XY5 : {
x -5332,
y —-3228
}
by
{

delta node-XY6 : {
x —-11705,
y =7009
}
by
{

delta node-XY3 : {
x -1630,
y —-966
}
}
by
connectsTo {
{
connectingLane {
lane 31,
maneuver {maneuverLeftAllowed}
by
signalGroup 3
}
}
by
{
laneID 20,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -3069,
y —444
by
attributes {
dWwidth 30
}
by
{

delta node-XY3 : {
x =708,
y —843
}
by
{

delta node-XY3 : {
x -1331,
y -1138

}



}
b
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}

}

}
by
{
laneID 21,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -2191,
y —-701
by
attributes {
dwidth -60
}
by
{

delta node-XY4 : {
x =-2917,
y —1724
}
by
{

delta node-XY5 : {
x -5313,
y —-3104
}
by
{
delta node-XY5 : {
x —-6540,
y —-3713
}
by
{

delta node-XY3 : {
x -1746,
y =759
}
by
{

delta node-XY3 : {
x —-1825,
y =511
}
by
{

delta node-XY4 : {
x -3971,
y =378
}
by
{

delta node-XY3 : {
x -2016,



y 128
}
}y
{

delta node-XY4 : {
x -2603,
y 558
}
by
{

delta node-XY4 : {
x -2891,
y 1062

lanelID 22,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1972,
y —-968
by
attributes {
dwidth 60
}
by
{

delta node-XY4 : {
x —-2904,
y —-1672
}
by
{

delta node-XY5 : {
x -5417,
y —-3189
}
by
{

delta node-XY5 : {
x —-6243,
y —-3574
}
by
{

delta node-XY5 : {
x —-3942,
y —2247
}
by
{

delta node-XY4 : {
x =-2219,
y —-1615
}
by
{

delta node-XY4 : {
x -1732,



y -1744
}
by
{

delta node-XY4 : {
x -1683,
y —2621
}
by
{

delta node-XY4 : {
x —-1025,
y —2534
}
by
{

delta node-XY4 : {
x =576,
y -2711
}
by
{

delta node-XY3 : {

x =193,
y —1707
}
}
}
by
{
lanelID 23,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x =-3027,
y 202
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782

delta node-XY3 : {
x —-318,
y 1052
}
by
{

delta node-XY3 : {
x =909,
y 1520
}
}
by
connectsTo {



connectingLane {
lane 20,
maneuver {maneuverRightAllowed}

b
signalGroup 2

lanelID 24,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =2074,
y 326
}
by
{
delta node-XY4 : {
x -2180,
y 2448
}
by
{

delta node-XY5 : {
x -5202,
y 5623
}
by
{

delta node-XY6 : {
x =7165,
y 7856
}
}
b
connectsTo {
{
connectingLane {
lane 13,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 23,
maneuver {maneuverStraightAllowed}

laneID 25,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}

I
maneuvers {maneuverStraightAllowed},



nodelList nodes : {
{
delta node-XY3 : {
x -1801,
y 534
}
by
{

delta node-XY4 : {
x =2297,
y 2485
}
by
{

delta node-XY5 : {
x =-5110,
y 5564
}
by
{

delta node-XY6 : {
x =7233,
y 8002
}
}
b
connectsTo {
{
connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
lanelID 26,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1504,
y 737
}
by
{

delta node-XY4 : {
x =-2257,
y 2466
}
by
{

delta node-XY5 : {
x -5128,
y 5598
}
by
{

delta node-XY6 : {
X -6231,
y 6820

}



}y
{

delta node-XY3 : {
x -1085,
y 1209
}
}
by
connectsTo {
{
connectingLane {
lane 15,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {
lane 27,
maneuver {maneuverStraightAllowed}
}
b
{

connectingLane {
lane 28,
maneuver {maneuverStraightAllowed}

laneID 27,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverlLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1229,
y 947
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x -1987,
y 2168
}
by
{

delta node-XY5 : {
x -5150,
y 5682
}
by
{

delta node-XY2 : {
x =523,
y 4
}
}
by
connectsTo {



connectingLane {
lane o,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
by
{

connectingLane {
lane 31,
maneuver {maneuverUTurnAllowed}
b
signalGroup 5
}

lanelID 28,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY6 : {
x -8922,
y 9378
}
by
{

delta node-XY5 : {
x =-3277,
y 3585
}
by
{
delta node-XY4 : {
x -1889,
y 2067
}
by
{

delta node-XY3 : {
x -1032,
y 591
}
}
by
connectsTo {
{
connectingLane {
lane 31,
maneuver {maneuverUTurnAllowed}

}
by
{
laneID 29,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}

I
maneuvers {maneuverStraightAllowed},



nodelList nodes : {
{
delta node-XY3 : {
x —-247,
y 1669
by
attributes {
dwidth 30
}
by
{

delta node-XY6 : {
x =7319,
y 8128
}
by
{

delta node-XY6 : {
x -6311,
y 6843
}
}
b
connectsTo {
{
connectinglane {
lane 4,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1001

laneID 30,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x —-478,
y 1478
}
by
{

delta node-XY6 : {
x —-7449,
y 8149
}
by
{

delta node-XY6 : {
x -6210,
y 6739
}
}
by
connectsTo {
{
connectinglane {
lane 5,



maneuver {maneuverStraightAllowed}
by
remoteIntersection {

region O,

id 1001

laneID 31,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =797,
y 1270
}
by
{

delta node-XY6 : {
x -7381,
y 8155
}
by
{

delta node-XY6 : {
x -6208,
y 6744
}
}
b
connectsTo {
{
connectinglane {
lane o,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1001

}
by
{
laneID 32,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
by
nodelList nodes : {
{
delta node-XY3 : {
x 993,
y 1563
by
attributes {
dwidth -30
}



delta node-XY4 : {
x 1659,
y —2051
}
by
{

delta node-XY4 : {
x 1694,
y —-1358
}
}
I
connectsTo {
{
connectingLane {
lane 33,
maneuver {maneuverRightAllowed}
b
signalGroup 14
b
{

connectingLane {
lane 35,
maneuver {maneuverlLeftAllowed}
b
signalGroup 14
}
}
b
{
laneID 33,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
I
nodelList nodes : {
{
delta node-XY5 : {
x 4346,
y -1846
}
b
{

delta node-XY4 : {
x -1694,
y 1358
}
by
{

delta node-XY4 : {
x =-2027,
y —656
}
by
{

delta node-XY3 : {
x —-1430,
y —-762
}
by
{

delta node-XY3 : {
x —-453,
y —-922

}

by



connectsTo {
{
connectingLane {
lane 32,
maneuver {maneuverLeftAllowed}
by
signalGroup 16
by
{

connectingLane {
lane 34,
maneuver {maneuverRightAllowed}

by
signalGroup 16

}
b
{
laneID 34,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
I
nodeList nodes : {
{
delta node-XY4 : ({
x -1258,
y —-2828
}
b
{

delta node-XY3 : {
x 453,
y 922
}
by
{

delta node-XY4 : {
x -1616,
y 1755
}
by
{

delta node-XY3 : {
x —-1245,
y -361
}
}
by
connectsTo {
{
connectingLane {
lane 33,
maneuver {maneuverLeftAllowed}
by
signalGroup 10
by
{

connectingLane {
lane 35,
maneuver {maneuverRightAllowed}
b
signalGroup 10
}



laneID 35,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x -3666,
y =512
}
by
{

delta node-XY3 : {
x 1245,
y 361
}
by
{

delta node-XY3 : {
x 1511,
y 1128
}
by
{

delta node-XY3 : {
x 1258,
y 893
}
}
I
connectsTo {
{
connectingLane {
lane 32,
maneuver {maneuverRightAllowed}
b
signalGroup 12
b
{

connectingLane {

lane 34,

maneuver {maneuverLeftAllowed}
by
signalGroup 12

}
by
{
laneID 36,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {}
by
nodelList nodes : {
{
delta node-XY6 : {
x =20719,
y —9892
}
by
{

delta node-XY3 : {
X -618,
y —-1287

}



}
by
{
laneID 37,
laneAttributes {
directionalUse {ingressPath,
sharedWith {},
laneType crosswalk : {}
b
nodelList nodes : {
{
delta node-XY6 : {
x —-24878,
y -18237
}
by
{

delta node-XY3 : {
x =915,
y 668
}
by
{

delta node-XY2 : {
x -556,
y 484

}

egressPath},



